TOOLBOX |[> ROBOTICS

Collaborative
Robotic Arm EB100

Assembly document with instructions

Copyright © 2023 www.toolboxrobotics.com - All rights reserved.






Assembly Instructions Collaborative Robotic Arm EB100

Tools

Necessary tools

Screw cross head screwdriver Spanner 5/16

(h

Metal saw




Assembly Instructions Collaborative Robotic Arm EB100

Electromechanical

NEMA 14 stepper motor (x3)
NEMA 14 is a hybrid stepping motor with a 1.8° step angle (200 steps/revolution).

Specification:

= 4 wires

= 1.8 deg. Step angle (200 steps/rev)

= Holding torque of 0.18 Nm

= Rated current: 0.8 A

* Dimensions: 35 x 35 x 34mm or 35 x 35 x 42mm
* Rod diameter: ®5 mm

NEMA 17 stepper motor 60mm (x3)
NEMA 17 is a hybrid stepping motor with a 1.8° step angle (200 steps/revolution).

Specification:

= 4 wires or 6 wires

= 1.8 deg. Step angle (200 steps/rev)
= Holding torque of 0.65 Nm

= Rated current 2.1 A

= Dimensions: 42 x 42 x 60mm

= Rod diameter: ®5 mm



Assembly Instructions Collaborative Robotic Arm EB100

Planetary Gears Actuators

You will need

Planetary Gears
Actuator
EBA14

(x3)

Planetary Gears Actuator EBA14 Nema 14

Planetary Gears
Actuator
EBA17

(x3)

Planetary Gears Actuator EBA17 Nema 17



Assembly Instructions Collaborative Robotic Arm EB100

You will need

3D filament 1.75 Black

- 1KG PLA+ or ABS (x2)
-10.02 MM

3D filament 1.75 Grey

- 1KG PLA+ or ABS (x1)
-10.02 MM




Assembly Instructions Collaborative Robotic Arm EB100

Hardware

Screws and bolts

6-32 Pan Head Screws are a great alternative. Pan heads provide more surface area under
the head which is preferred when working with plastic and soft materials that are prone to
distorting from the pressure of tightening a screw. The head height is less than a socket

head screw so if you're limited on clearance in that orientation, these may provide that bit of
extra space to make your project come together.

#2 Phillips Drive

~—1— 0.093"
20.270"

#6-32 UNC




Assembly Instructions Collaborative Robotic Arm EB100

Hardware

Screws, nuts and washers

#6-32 x 1/2in #6-32 x 3/4in #6-32 x 1-1/2in  #6-32  #6-32

¥ =0

a

": Use a metal saw to cut these screws
#6-32 x 1in ; , #6-32 x 7.5mm #6-32 x 8.5mm #6-32 x 9.5mm
3 3

#6-32 x 12.5mm

Hei

iy

1/4 x 1-1/2in 1/4




Assembly Instructions Collaborative Robotic Arm EB100

Actuator EBA17

Lo S———

1/4 nuts (x8)

9



Collaborative Robotic Arm EB100

Assembly Instructions

#6-32 x 8.5mm (x4)

#6-32 washers (x4)

10

6

Actuator EBA17



Assembly Instructions Collaborative Robotic Arm EB100

o #6-32 x 3/4in (x4)

11



Assembly Instructions Collaborative Robotic Arm EB100

5
. \f!? #6-32 x 1-1/2in (x3) 44 F’
1 v o1

10
|

FY' l‘l“:‘T" I |
M

12



Assembly Instructions Collaborative Robotic Arm EB100

#6-32 nuts (x4)
c,/ #6-32 washers (x4)

13



Assembly Instructions Collaborative Robotic Arm EB100

#6-32 washers (x4)

14 #6-32 washers (x4)

#6-32 nuts (x4)

14



Assembly Instructions Collaborative Robotic Arm EB100

15

22.

: #6-32 x 1in (x8)
@% «#/
11 ‘*% 13 23.

15



Assembly Instructions Collaborative Robotic Arm EB100

| HHW*-\IV
4

\
—
"

16



Assembly Instructions Collaborative Robotic Arm EB100

28.

o
!
0 =
C T

#6-32 x 3/4in (x4)

29.




Assembly Instructions Collaborative Robotic Arm EB100

18



Assembly Instructions Collaborative Robotic Arm EB100

#6-32 x 1-1/2in (x4)

34. ijf_ 3. T
: #6-32 washers (x4)

19



Assembly Instructions Collaborative Robotic Arm EB100

#6-32 washers (x4) LrL
SO ekch
#6-32 nuts (x4)

42.

20



Assembly Instructions Collaborative Robotic Arm EB100

43. 44. 45,

TR Rt SBE
\

i T  \#6-32 x 3/din (x4)
i
\

T
l

\

\

N
w

#6-32 x 3/4in (x4)

46.

21



Assembly Instructions Collaborative Robotic Arm EB100

47.

Actuator EBA17

#6-32 x 9.5mm (x4)

22



Assembly Instructions Collaborative Robotic Arm EB100

Y




Assembly Instructions Collaborative Robotic Arm EB100

51. ﬂ

#6-32 x 3/4in (x4)

24



Assembly Instructions Collaborative Robotic Arm EB100

#6-32 x 1-1/2in (x3)

25



Assembly Instructions Collaborative Robotic Arm EB100

55. 56.

26



Assembly Instructions Collaborative Robotic Arm EB100

Actuator EBA14

#6-32 x 7.5mm (x4)
#6-32 washers (x4) 29 28

58.

27



Assembly Instructions Collaborative Robotic Arm EB100




Assembly Instructions Collaborative Robotic Arm EB100

61. Q.1

#6-32 x 1/2in (x3)




Assembly Instructions Collaborative Robotic Arm EB100

64.

65.

#6-32 x 1/2in (x3)

66.

#6-32 x 1/2in (x3)

30



Assembly Instructions Collaborative Robotic Arm EB100

69.

#6-32 x 1-1/2in (x3)

27

31



Assembly Instructions Collaborative Robotic Arm EB100

#6-32 x 1-1/2in (x3)
I
31

73. 34

32



Assembly Instructions Collaborative Robotic Arm EB100




	Diapo 1
	Diapo 2
	Diapo 3
	Diapo 4
	Diapo 5
	Diapo 6
	Diapo 7
	Diapo 8
	Diapo 9
	Diapo 10
	Diapo 11
	Diapo 12
	Diapo 13
	Diapo 14
	Diapo 15
	Diapo 16
	Diapo 17
	Diapo 18
	Diapo 19
	Diapo 20
	Diapo 21
	Diapo 22
	Diapo 23
	Diapo 24
	Diapo 25
	Diapo 26
	Diapo 27
	Diapo 28
	Diapo 29
	Diapo 30
	Diapo 31
	Diapo 32
	Diapo 33

